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F . — & Wy v e
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AT TR .
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W X
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R=E: Y- * B % i 10% 40 44
17 4 | & % Mk 20%
B QS BEMBE 15% 30 44k
Bt 100% 130 4> 4

A B R AL,2013 F 12 A FWAAERE L #HATHRA . L P H AR EHE .
1. BRAKFAANE
BEAXRTEREANRRARAATNE EXKEREESAE, EXFaarEE i £, A
EWREXES S e R AL, L1008, EXHFEHZE.

2. kB

FhEHEZEMEAEAKBEARER BEXKEMERESE, BEEHRA O T. 80 A, &
ARENERHERENE —BR . EXFLERBEBANOERMERMWER, ANEETRANA
LA B T B R A AT — AL

3. B

FREAXEHERNENBEEXEE, BEABRAPRFENT L XM EF H2LREF . KEH 180~

200 MR F .

KEHHARFEEARERAFTABNANERES AL UTHA:

L 2EENF R BEURAAREN A LAREAARABZ LR 2R G E KT, EH & il L5,
Bla, \ERAEBEHER LT, BEHAT
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NGNS R EF LLSGE SO T BB ARSI P A i — M E RS A S A, SE%
R B 8 A B B TS ALY B RE ) il i TR A T O N AT A B LA RE T o BT XSRS R A 3
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1. AR E

YOI B G FAF SC— AR TS R P BB T — A PR A B L 45 TR N B4 I T BB TR A 0L 25 A T LA
3R PG R S B0 X2 G 1 D B R DG PR 3R BRS04 A R G B, DT 8 I A T e Y 15 9 A IE AR
o .

Directions : For this part, you are allowed 30 minutes to write an essay commenting on the remark
“Plastic surgery is helpful to improve the chances for a job”. You can cite examples to
tllustrate your point. You should write at least 150 words but no more than 200 words.
(Model Test 2)

2. ARFEE

X SR T ¥ A SC— FRAE BB T A X A AR Y (R RE 45 1 7 b X 507 kL 7 A T LA 3 R v g ()
1 W [ J25E ) A6 75 R A e ) R A b S AR X RUI e ) V7 %o SRS gk 3 e ke 5 i AR DR . 48
Directions : For this part, you are allowed 30 minutes to write an essay commenting on the remark “Food safety

could be ensured by being subject to stricter government regulation.” You can cite examples to
illustrate your point. You should write at least 150 words but no more than 200 words. (Model Test 4)

3. AT RAELLEH

BEXSRE I Fp 25 T AR SO A, 2B A BT LR B A UL AR B B A AR B L AR R R
B A e R I 0 P B 5 A0 T LUK L o o 5 2 0 ) R B A A AR Ak BB I R ke A 4 T 2 T
HORAESSE. .

Directions : For this part, you are allowed 30 minutes to write an essay commenting on the remark
“College need to do a better job of preparing students for the job market s not just for the
enlightenment of mind.” You can cite examples to illustrate your point. You should write
at least 150 words but no more than 200 words. (Model Test 1)

A A2 AT PLK A College need to do a better job of preparing students for the job market X
NS, AT DA E w88 . 64 Colleges are just for the enlightenment of mind X #£F WL & . JC i 255 WP
— T, A WL ISR A A A AR R .

4. HIEY & BAE L LA

BERXS IS UE WL AR S 30, 25 A a] LUAR 458 R8I0 b 32 1 A9 U A, 8 e 238 4] 25 O S8 UE WL A, B S PR X 8 etk
frEdh. filn.

Directions : For this part, you are allowed 30 minutes to write an essay commenting on the remark “By
perseverance the snail reached the ark”. You can cite examples to illustrate your point. You

should write at least 150 words but no more than 200 words. ( Model Test 3)
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—.KARERFE - REXERNR

1. #4515 % %

Z 0] LI A for example, for instance, such as, like, thus, take ... as an example, to illustrate
a case in point 2 FEFTZEH .

Y2 w RS B % AR A9 B i A8 15 7S . first, firstly, in the first place, fist of all, in the

beginning, to begin with, to start with, second, third, most of all, next, moreover, in addition,

besides, furthermore, last, lastly, finally, eventually, last but not least, for one thing ... for another
2. AR M

TE B — T S - i A A) s D HE DR IR SG 2R L SR 5 3 T AT SR 60 ), %5 0L Ml 22 31 5 28 I IR sl 45 8L LT
TR RBAE . AN I TR B SR S MR B A AR LR — A ¢ A b 2T A JR g o 20 6 S AR
(S

R SR oM vk % A i 3% 3R] R8I IR FT/E 38« because of, so, owing to, thanks to, thus, as a result of ,
hence, for this reason, consequently, is caused by, lead to, result in, since, as, for, due to, owing
to, on account of, in view of, contribute to, therefore, so, thus, accordingly. as consequence, in
consequence of, as a result, result from %,

3. yhda Rk

) b 25T W A S WD T L B S R AN ] L SE B R 2 8 B A BB DAL BT G A [R] Bk
AR . FERH O BA R B E R TR I

W PRI A : at the same time, similar to, accordingly, similarly, the same as,in the same way,
likewise, as, in comparison with, by contrast, conversely, differently, on the contrary, on the other

hand, unlike, but, however, yet, whereas, while 4,

= REFZEHR BRIESBEINRS

L. & F R AER

A 4% L 22 8] O i B R A AU JE B, A 1 R LA A OG BB OR) B L DN D 20 1) 5 R AR OR B
(ZEUE

(1) with 5] iR 45 4 . with S50 0] LSRRt RE B0R 00 3545 AR I 55 Z M2 11 OC &R . 5 ARl
PiegJis M. fian .

With China’s urbanization and the development of market economy, food safety issues are
arousing increasing concern. (Model Test 4)

CHBERNAMARTEELH . SN ARAIEIEE A T E 2R, fln.

Some cases concerning food safety have occurred in China, such as poisonous element in baby
formula powder, illegal sewage cooking oil and dyed steamed buns , which pose huge threat to public
health. (Model Test 4)

(3 )iz F QIR i) B R B ) ] O &R o 4% i S IBC 1) T W] AT M b AR B ) 1 8] 5G &R o B3 G & T LR A
however, nevertheless, but &, [A %3¢ & 0] DL % A thus, therefore, hence Z£1a)iE , 3% ¢ R 0] LI %
what’s more, furthermore, also &FifiF . #i40.

What’s more, many countries have set good examples for China to curb the immoral practice.
Singapore is a country with good order and few crimes because of the severe punishment for the

culprits. If we do the same in punishment, food will be much safer than now.
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Therefore, when the morals are weak in limiting people in bad practice, the government

regulation could stop the trend. Those who make illegal and unhealthy products should be severely
punished by law so that food producers are too scared to make fake or poisonous goods. Only by
concrete actions in law can the problem of food safety be solved. (Model Test 4)

2. MARAKR ME.SH

(1) Bfk, AR T HEE 5 . BRI 4 BE SR 1k BRI & 3L,

2O . H— T T AT LA IR AN 5 28 ) 2 il o g 1 R el D R R BB AL . AT A
f SR AR R O R 1 SO 9 R L 49 0 et AL AR B
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1. #BUFRE
FEUCTE SRR i — O S A, ) — O R B A B — O 8 B R O — i R L SRR
WA H LA LA
If T were you (in your shoes/place), I would ...
Why don’t you ... / Why not ...?
How about ...?
Don’t you think ...?
It’s about time/high time ...
R A TR N . BN
4. M: I didn’t get financial aid. I don’t think I can take any courses this semester.
W . If I were you, I would approach a bank. They have plenty of loans available for students.
Q: What does the women suggest?
(Model Test 1)
1. W: These shoes are very cheap. I think I'll buy three pairs.
M : Why net just buy one good pair? Cheap shoes wear out very quickly.
Q: What does the plan suggest that the woman should do?
(Model Test 1)
DA 5 38 2 R Y 25 2 T AR R AE R R U IRTE Z 5 P B AU DAG .
2. i E HH . XEE
Xl By L O B A BEAT BRI I R A T IO DG B R L A 5 OC B R] T 22 B) RO IR AR R AT S BRAED .
i .
6. W. Hi, Mike. I just came back yesterday. Anything new while I was away?
M. Congratulations, Carol. It’s said you’ll be promoted to director and become my supervisor.
Q: What is the most possible relationship between the two speakers?
A ) Customer and salesman.
B ) Colleagues.
C ) Employee and employer.
D ) Classmates.
(Model Test 1)
AR A A S 2R A8, AR BB AY S 88 1R] promoted to director 28 AT LAAE H IE A HED .
3. B HFE
I E] RO R L A R MIAEAE S B T —E TR, flin.
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5. M: These watches for lovers look so beautiful that I'd like to buy two pairs of them for myself and
another for my parents. Would you give me a 10% discount off the price?

W. OK. You know the price is $100 for a man’s watch, and $90 for a woman’s watch.

Q: How much does the man have to pay?

A) $342 B ) $190 C)H $171 D) $261

(Model Test 1)

BB L $100. 4 $90, MK PEIF H oy 100 M a4, /T LUER TR I A % .

4, BEAEE

W 2 A U i 2 B A A 8 i R R R B yes ZRA) TR AR 15 42 B9 no ZRIAITROR A BL . LB E 24 M7
FTHHT can 58 could §975 2 M AL 28 3] HL Aok K on 15 %E 1975 L. 4 couldn’t be better x4, A

FnBER kT You said it. / You bet. / Of course. / Certainly. / Indeed. / Sure. %,

TR F AR T Are you kidding/joking/serious? / No kidding. / Actually. %,

5. BiEA K

HE LR SR AR B AR 2 bt LU B R I o 3 T R OLTH RUBT 3R89 A 2 RS B i B AR S L TR SR P A
T SR G S P15 B0 flde 5

= WAKIIEER S

Wy g KX IS ARG 55 DR R BRI, H W sS4 5, 7651 F B FEIEH 43, 28 IR AU B34 )
1% o 25t BUTT B AR B 48 (3 B X 0 1 8 5t X — AR A0 e B tH BT S, XIS 0 RIS 4, 3O B
AT TE s B a8 AR 3 — 3 20 25 5 o B 40 1 R R o B, X A 45 R 43, N R Gl ), B
L8 T U2 T A B[] 3 — 3R 43 FTRE S R 8, (R B, BB S T B R A X s BT B W A A B A )
T ST W A A B A

1. FxMfrgM

2 A TR U 0 0 S0 ek O BT 3 L B B4R N Z (8] 9 0% &R L TR R §E AT 2E B9 N . i EL X R
F R RAEX G b S B S AE Lo B TR 3 B RS

2. mH A

ST R BN T A T Y FE R R R o P TR] RS A SR B A I, 2 AR A W Y A P e i
) RN ARG 2B . HRAh 41575 2 i XI5 Y 32 IR 55 o DR 0k 326 9% E 1 i s R QD R A B IR B R I £
T 22 2% RN IR Y A

3. EEM

W — B R BAE TG /). BT ERINGE BRI REBCRNESFIE, F,since, as,
result from, so 551 — M AR FY) Z B PE KRR,

4. SEMA

X 18 25 BN TE XU X TS 0 R BRI — RO FROR WA S EE VBE B AR . B AR
FE N T T A5 AR XUy R R G TS BE Y O .

5. it xjA

X8 G AL , X35 U 23 % RSk B9AT S AR #E AT R B, B A T R AN G T SR K ke B A 1 iR 3

i will, won’t, be going to 4§,

as]

=, BXWAES

1. BEBR 5%
B SO Sy R T S PR KR e, PO R TANR R — A e AR E R a4, W
DU LI A WIS B Z AN 5, 25 A 0 29 391 25 2 R0 ) JL F) A S A
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O AR, BAEE AR T R B WA SRR RE ), — R RS — R R — A, R TR
FLSCHITT IR 545 M R 5 1 B REE R G . B AR R P EE I IUERE SO LN W
I L, Bl B 3 A

PN AL AE BRI ) A S A R R AR R AR T B S I ] B
I T LA T 5 B A2 0

PR B A A, 3 2R 0 S AR B AT A T A U A BE B IE A B9 1B R . 4210 07 XA - What can
be inferred from the passage? What does the speaker think about the problem ...? What does the
speaker most concerned about? How does the writer feel about ... ?4¢, B = 5% SC N A —FE AU 3E T
TR G AR R 58 SO UL A 28 0 HE T A R e .

2. R E ST

FLSCWr A = Ao EH AW, || MR, JiEAT ORI S R SRR R BUOE TEE R
A B MAE S ANEE E SCEI A P E R E RN, HWREEHECHR &, B E R h
HRBELRAM DS RENRER, (RIZ G R MY &R HZ R T, FIAR I 7T ¢ & 1Y but, on the
other hand, however, though 5, /KB [K 56 & i because, as, since, as a result ¢, REL 5 28 L A 1
for example, for instance & ,{K¥ 515 K AY not only. .. but also, also &, &, MR ESAEENT,
R ER I in particular, especially, only 553278 58 ¥/ (9 98] 15 55 /A) =, A 7 02 — 2655 | LAk, 75
B TR,

M, FWEE=

W5 s AR 2 U B S, B ERR AR B B R U R IR T 2 AR R R B AR A
FH 75 145 2 I 18], 00 Y 12 00 SC 798 00 o AR I T2 RUA) BTN SC 3 R R R AR A . B — il 2 4 SC R 3, %
A= AT A3 Y b IS SR RS O, o L iE Rl . X T ) 2 A i [ B PR R LA G B I L R T,
RBAE SR 43, B R I N FE S SRR, WA T R . S A A e .

L. &A= X & A

W5 T 25 1 3 1 Ah T — 5 B9 R SO, 2B AR T DUAR 8 25 A% TR ) B AL B K IS 1A SO R TR TR R
53 A4 SR B 2R | B AR b b S A, X WT Y Ak AR b R] DU B S a0 s R I R 26 1Y
Wik,

ZARHTJE WEARAFAEIF S 117, W and, as well as 5, W] LUXE 28 4% 47 00 A0 B SCECT SOIR ARG 53
JO7 2 A B[] A5 T =R B 0 3 S

2. Y9 IF 5

W 48 B8 47 5 A etc., i.e. (that is), yrs(years), s(second ), vs(versus), min. (minimum ),
max. (maximum ), &, H A 3238 1 n] LA OR A #g B9 T2 2K, @0 esp X especially, sth ff something,
apprec f{ appreciation &, - REE/ (1 B SE RS %R TR 2 B9 BENE SR AT LA TR

3. e EZ ALY

ZAEFEHEBEFTMIRBEM T AR, FEMEELLSEW. EERLR. . EXER. LT XFE2MELE
D03 KRR W 5 OF IE A8 BF S MG BRR] R e R R R R PR DR SRR
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— . R AR

TR PR AL 25 25 A — e 250~280 BRI SCE, A B 10 s AR, ZORE A VIR I AY 15 > 45 3k
BT g Y 10 ST SCRERH I A 5 SO T K R . R R A AR R AR S iR | 44 1A IR 2 1R AR
il Lo HoA B A A A R A R G TR B iR DL R 4 1A B A RO K

1. AR, E L £

A 200 0 8] 2 e 1 gt R) S AR A ) R U R 3 2, O AR A B S A R SR R TR AR T .

A) counterparts B ) occupations C ) well-to-do D) top

E ) considerably F ) ease G ) connected H) bottom

I ) divorced I) few K) low-skilled L ) professional
M) little N) equal O) considerately

(Model Test 8)

ERfT) X 15 Wi Bam 28, Hih 2 187 counterparts, occupations, top, bottom ;a] UL H
YEshiA B ease, connected, divorced ;JE & {8 A well-to-do, low-skilled , professional, few, little,
equal .73 4 a] FIYEIE 2451 Y38 A connected, divorced, top Fl bottom W A] LLFH > 46 i HoAth 44 18] ; @ i)
considerably, considerately,

2. R BE , EA L F

K B2 42 SOTT 3k 4848 3 R, JF LA = A 254 sl — A Be v O SR, M) Al IS ST B 41> 25 4% BT i 0 1)
B3RP IS BRI, AR A ) e ) 328 TR — T [ i S, o SCIE N B A 2 I — BORY Dy IE R
i, L Model Test 8 #5431 H A 4 .
It’s a myth that has become so  (36) from reality that it might as well begin with the words “Once
upon a time”.

BEAT Y oAb it 2 46 % I 250, OF B2 i BE A4 38 from % . 7EIE 25 1R 4 well-to-do, low-
skilled , professional, few, little, equal, connected, divorced H,B i RA5 divorced ¥ Ml from # fig ff
FH . be divorced from /R “Bi & ZE

The American Dream for the (37) grows from the bowed backs of the working poor, who too
often have to choose between groceries and rent.

BEMTY A 09 23 b FOHT T B9 A2 s R the 4 BG4 98] 48 05 A O A1) 1 B9 F2 18, 4 3838 75 counterparts ,
occupations, top, bottom Bl BAA G IE , A Y5 SeK %L Wi & T ok, B B 5 A

In a new book called “The Betrayal of Work”, Beth Shulman says that even in the booming 1990s one

out of every four American workers made less than $8.70 an hour, an income (38 ) to the
government’s poverty level for a family of four.



FRLBE R ZIBFEBAREXREUSE

EZtr] ARy as A& N Z L 2506, 9F B A RE Ay i) to B . 7E R/ T B IE & well-to-do, low
skilled , professional, few, little, equal, connected #, 1] ULl to #& i ff FH iU connected #l equal, be

connected to KR« Heeeeee HHEE R ", be equal to /R eeeee T2 MRAE A A AL R Z R H equal.,
We (39) our consciences, Shulman writes, by describing these people as “low skilled”, as

though they’re not important or intelligent enough to deserve more.
EZiT ] U ab iz A% N T 3hinl . 7E =431 ease, connected, divorced H1, EFIf5 Y consience
FEBCfE HI B %2 ease JJITIF ease our consciences HUJE “ Wl RO B A ZCRE 1Y B8 .

But (40) workers today are better educated than ever before, and they constitute the linchpin
(SYNC) of American industry.

B2ATY AL EE S NZHDE A L (R AUUR HE better educated fRMERE . AWI1E LF — 4. We
ease our consciences by describing these people as “low skilled”, as though they’re not important or

intelligent enough to deserve more. HILA W, X B A& |3, NiZIEE low-skilled,

Five of the 10 (41) expected to grow big in the next decade are in the lowest-paying job groups.

B2AT] oAb i 2346 B 4% 3. i B iy TR A KR R 10, IR — R R H A . TE 4 R
counterparts, occupations, top, ease, bottom 1, fF & &1 £ 8 counterparts Fl occupations i T
counterparts i Fll b 3C 4% W) AH X I #9478 — BEAY 55 — A 3% v Al 5 B AT 18 AL A IR R T BE SR T IX A 1)
o P B R occupations,

While the (42) 10 percent of American workers earn just 37 percent of our average wage, their
(43) in other industrialized countries earn upwards of 60 percent.
EREHTY  BbAb (42)N 3B 2508, (43 )N IH 4 10, Bl R P B 25 1A well-to-do , professional, few,
little, top, bottom %%, £ id A counterparts, top, bottom JfRZ 5 #| & (43 )W %5 counterparts, H
P bSO R Y low skill jobs 281, (42))V 1% % H bottom,

And those are countries that provide health care and child care, which eases the economic pinch
44) .
BZAT] AL =S 4% 0% H A, considerably, considerately Wil 0] i) i, & 5058 4 AN 6] L 1 # 48
CONRBE RRBE DM Y Kb, J5 H 18 “F I E B Mo AR AR 48 ) & R B considerably,

When the middle Class feels poor, the poor have (45) chance for change, or even recognition.
B247] AR SN ZAE AR . EEIFEFE T well-to-do , professional, few, little, connected,
Bl A 207250 A chance XA 1 A al %, BT LR little,

The American Dream for the (37) grows from the bowed backs of the working poor, who too
often have to choose between groceries and rent.

B2AT]  5n 15100 Sk O , Z 1 E 2B A 58 . % B B the B 21 i) 3278 — R AN sl — 2K FH Yy, X
B AT PR B SRS R T B 280 L BR B0 2 28 5 IR VB 1L I, 40 few 22 little AYIRVE LI, i
4 well-to-do , professional, connected A 4b 25 4% BH i N iZ 1k # well-to-do,
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R R R A

A HEETE IR T AR S T3 . 528 AT DL B I i o ] o T 0 A
)AL A

L X EACIE X P ATPYNCE AT S B A S IR X

BOFAR B BT RLAA B A SCh F R g Y R 9 0T R A SR A R

FERRAR AL 355 055 S5 78 SO AR LU 8™ i 45 5 jE A

4 -

51. According to the recent “Plans for 2012” survey, most people are unhappy with their current jobs.

h({(3

BRI EN . X

I

52. Mary Lyn Miller suggests that a job seeker develop a vision that answers the question “What do 1
really want to do?”

47. Many people are dissatisfied with their work because of their long-held beliefs about work., the
unwillingness to change their career path.

48. During an interview with potential employers, self-honoring or self-love may help a job seeker to
show confidence.

(Model Test 2)

X HLAY PO 4% 2% 8 {5 B Plans for 2012, %4 448 Mary Lyn Miller, & F % 45 191715 long-held 1

self-love #B /&% 4 1] LIAF $R B SC(S B INA R .
=, FHERER

L. INMERERE BKBEE

YL TR SCF TS W S0, 0 1 H M B SO A, B Hh B By R, R R BB A AR R N A R B A 4 R
BRI R B N IA . B AT R i RAL AR R ORE . .

56. What is the main idea of this passage?

A ) The difference between short-term memory and long-term memory.

B ) The experiments of two groups of rats.

C ) The temperature for rats to lose their memory.

D ) The importance of memory.

(Model Test 2)

55 56 MR S LR AR SCE R IT Sk 5T AR B MER — A 3 gl vl LA 0 S 3 BT A 5% B 9 AR S B A2 A
KL X5 -

A well-established distinction in memory theory is that between short-term and long-term memory. The
former refers to our ability to do such things as remember telephone numbers long enough to dial
them; the latter concerns the wide range of ways in which experiences can affect behavior many years
later. Given the two different kinds of ability. it is reasonable to hypothesize that each is represented
differently in the brain. An experiment was designed to test the hypothesis that long-term memory
implies a chemical change in the brain cells while short-term memory involves patterns of impulses in
circuits of nerve cells. (Model Test 2 Passage One)

P40 .

65. Which of the following can best serve as the topic of the passage?

A ) Different kinds of food in the world.

B ) Relations between food and social units.

C ) Symbolic meanings of food consumption.

D ) Culture and manners of eating.

( Model Test 2)



WAL R ZIBFBARE XENUS

SCE A S A 2 I 5% B S, T B b U B T 4 S 3288 : Cultural rules determine every aspect of
food consumption. Who eats together defines social units.

2. WEZH X R X495

SCE AR SC R R IR OC R I O R AR 5 R T A Y O B AR . B AR B R D D OB
KAGF LW Ty AR — & AR 8 T A M . RaRFIRCRNIFIEAR because, since, as,
therefore, thus, so, consequently 55, /R X BB & R K 5] § 17 GA4 )8 on the other hand, while, by
contrast, on the contrary &, R /R R R M5 T8 (A4 ) A however, nonetheless, but, yet, on
the other hand &%, |40 .
60. Electrical impulses affect

A) long-term memory B) short-term memory

C ) structural changes D) brain cells

(Model Test 2)
%56 A RIET X E K 45 B 4b: Short-term memory involves electrical impulses since at a
temperature where electrical activity ceases, there is no memory. Long-term memory, in contrast, is
unaffected by the disruption of electrical activity and may involve structural changes in brain cells. H:
th I 8 738 X BRI 1) TV I M R B T PR 2 TR X

3. IAZH LS K AT E

SCEE R IAAEE LS NS B R OGS R TR A B T A LR S R, T B R . G R E
411, W but, however, nevertheless J5# W AR AEE B B SLA R, A T E — 23R8 8 LMz
SRR 1, G0 %E iR positive, optimistic, concerned 2 K Bl 3 5 B8 W] M OC 1, 2 X iA] pessimistic ,
critical, negative, ironic, sarcastic SR IR BT 1 R X B A
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#1% 5 5 1% = oK B

— . AEES

DU ) B A sl ie) fdf A9 000 3 A O 8 v o BT ) — Mk el 2 TR AR TR 2 L R TR SR AR R —
A B AT DUMKEE K 0 3% 452 0 20 il & SO i g TR, 93 9 44 1) L A 1) S5 BA AR SR R B L A
WAL B i S 1 2, e DUTR S A9 22 o 3 0 TR 8 A B 6 T DA LR 09 43 ) B A6 R U A AR SR K ), AT
DI 5 AR5 ENAT 52 iE R Rk 5. fildn .

L. E SR AMTTEG R A A ZE HORIG 2 B C R R K —PLLER IR

(%321 Chinese sages tell the people not to seek self-satisfaction in entertainment but to pursue

happiness with others.

EXfRl shindibei 2 B &7 1% k44 A self-satisfaction,

2. PEARERFEE, ITLIEFEANNMUTERE R BA T LA B2,

[£32]1 Chinese people value filial piety and the elderly people have the unchallenged authority
at home and the wide respect in the society.

EEfg] AArcBA KRB M Tert 2 Bl s 2 8 EH 7RI LR AR IR 1Y R IA bR
NG < 5 32 R EHNTC L A AR I3 b T0RS Bl 1] < %5 B 1R O 44 1) respect,

3. WEAFEMNFE . EH TAEMEE EABREIA.

[¥3x1 Chinese people’s emphasis on filial piety is attributable to their traditional neglect of
material gains.

EEfR] i shin EW 18 44 ) emphasis ,“H B N W 238 " 48 k4 18] f2 15 Chinese people’s
emphasis on filial piety g5 F 0 F 15 4 i8R F #5158 %417 negleet “TEE G EAFEIH "5
ARk 2 3 f5 1 traditional neglect of material gains YE A B35 , 3 #E BN U 8 4] 86 BE WS 7F — 315 ] 1
I K KB .

=

PURR ST 3 2 Mo ok RO L . AT S DU EE MR KL B HE N KA, DOFR S i 224 P i
HIAE W . 380 DUE IR A AE— S0 AR, AN B IR SRR SR AR AR B B USSR SR
Hh— 5 Al 5 44 3R B RN IO, B I U T YA . o

L REA—EHE A i R,

[£32]1 Chinese people have long loved peace and freedom.

EERR] AMa I M shin Rz B — AR

2. TERZ R D7 T E A48 B S BR —FF, IR A —FE
[£32 1] Eating habits and tastes differ in provinces of China.
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